Part #468646

[ B GREENHECK

Building Value in Air.

Centrifugal Fan Isolation Base
Assembly Instructions

For use with the following Greenheck Models
BISW, AFSW, BIDW, AFDW, QEP, IPA, IPO, IPW, Vektor-CH, Vektor-CD, Vektor-CS




Base Fasteners

A Fastener Kit is enclosed with your fan unit. Assorted fasteners will be used to attach the isolation base to the
fan frame. Note that this kit contains fasteners used for multiple fan sizes. There will be leftover fasteners that
can be discarded. A diagram of the hardware assembly sequence can be found on the next page.

One of three kits will ship with the unit dependent on the model and size of the fan. Refer to the Fastener Kit
Parts List to ensure the appropriate kit was shipped and that it includes the correct pieces. If the fan uses Kit
#2 or #3, use the largest bolt that will fit through the base channel and fan framework along with the appropriate
washers and nuts, the others may be discarded. GFC part numbers 818034, 818035 and 818036 are the
stainless steel versions of these kits.

Fastener Kit Parts List #1
GFC Part #818031 or #818034 (SS) -
- — Fans that use Kit #1 | Arrangement | Class
Quantity | Description Single Width 12-18 1,9 Class Il
6 3/8 Bevel Washer Single Width 12-16 3 Class I, II, III
6 3/8-16 x 2.25 HH Bolt (2.00 = SS) Double Width 12-16 3 Class I, II, Il
6 3/8-16 Hex Nut Plenum 12-16 3 Class I, II, Il
12 3/8 Flat Washer
6 3/8 Lock Washer
Fastener Kit Parts List #2
GFC Part #818032 or #818035 (SS)
Quantity | Description
6 3/8 Bevel Washer Fans that use Kit #2 | Arrangement | Class
6 3/8-16 x 2.25 HH Bolt (2.00 = SS) Single Width 7-33 1,9,10 Class I, I
6 3/8-16 Hex Nut Single Width 20-33 1,9 Class Il
12 3/8 Flat Washer Single Width 18-36 3 Class I, 11, Il
6 3/8 Lock Washer Double Width 18-36 3 Class I, 11, 1l
6 1/2 Bevel Washer Plenum 18-36 3 Class I, 11, 11l
6 1/2-13 x 2.50 HH Bolt (2.00 = SS) Industrial 5-19 1,9,10 SD, HD
6 1/2-13 Hex Nut
12 1/2 Flat Washer
6 1/2 Lock Washer
Fastener Kit Parts List #3
GFC Part #818033 or #818036 (SS)
Quantity | Description
6 1/2 Bevel Washer Fans that use Kit #3 | Arrangement | Class
6 1/2-13 x 2.50 HH Bolt (2.00 = SS) Single Width 36-73 1,9,10 |Class|, I, Il
6 1/2-13 Hex Nut Single Width 40-73 3 Class I, II, Il
12 1/2 Flat Washer Double Width 40-43 3 Class I, II, Il
6 1/2 Lock Washer Plenum 40-73 3 Class I, II, Il
6 5/8 Bevel Washer Industrial 21-41 1,9 SD, HD
6 5/8-11 x 2.25 HH Bolt (3.00 = SS) ’ ’
6 5/8-11 Hex Nut
12 5/8 Flat Washer
6 5/8 Lock Washer

All dimensions shown are in inches.

Single Width refers to GFC fan models AFSW, BISW
Double Width refers to GFC fan models AFDW, BIDW

Plenum refers to GFC fan model QEP
Industrial refers to GFC fan models IPA/IPO/IPW

2

[ B GREENHECK




Installation Instruction for Isolation Base Fastener Kit

Align the holes in the Fan Mounting Angle of the assembled fan with the holes in the Isolation Base. Utilize the
largest bolt possible along with the appropriate washers and nuts. Place the correct flat washer on the provided
SAE Grade 5 bolt followed by the matching sized bevel washer. Insert the bolt/washer assembly through the
bottom of the hole in the Isolation Base and Fan Mounting Angle. Be sure the bevel washer is aligned properly
so the bolt protrudes from the hole perpendicular to the Fan Mounting Angle. Next, place the other flat washer
of the same size on the bolt followed by the lock-washer of the same size. Fasten the assembly with the
matching size hex nut. Install and hand-tighten all hardware assemblies to ensure proper alignment, then torque

each to their specified value as follows:

3/8 inch bolt e 25 ft-lbs
1/2 inch bolt ¢ 100 ft-lbs
5/8 inch bolt ¢ 130 ft-lbs

FAN MOUNTING
ANGLE

ISOLATION BASE /

B

Motor Slide Base

Motor slide bases are used for mounting a motor to
the structural base. They are also used for making belt
tension adjustments. Greenheck will ship the motor
slide base pre-assembled to the structural base for
arrangement 1 & 3 fan configurations.

NOTE: Design of base may vary by motor style.

[H GREENHECK

HEX NUT

LOCK WASHER
FLAT WASHER

BEVEL WASHER

FLAT WASHER

HH BOLT, GRADE 5

NOTE:

Some fastener kits will include an
additional set of fasteners to
accomodate other size fans and
bases. These are not required
and may be discarded.

Motor Slide Base



Types of Isolation

There are several types of bases available for use with centrifugal/industrial process fans. Table 1 shows
available uses for specific sizes and styles of fans.

Table 1
Arrangement Fan Type Direct Mount Structural Base Inertia Base
AF/BISW
1 IPA* No Yes Yes
Vektor
AF/BISW
3 No Yes Yes
AF/BIDW
IPA* Consult Factory
4,8 AF/BISW Yes Yes
Yes
Vektor
AF/BISW 7-36
o \PA 5-19* Consult Factory Yes Yes
AF/BISW 40-73 Consult Facto Yes Yes
IPA 21-41* i
AF/BISW 7-36 Yes
AF/BISW 40-73 C It Fact
10 onsult Factory Yes Yes
IPA 5-19* Yes
Vektor

Structural Base — Consult Factory on DB, BAD or TAD discharges.

Inertia Base — Not available on DB, BAD or TAD discharges.
*Consult Factory for isolation options for material handling fans (IPW/IPO)

Below are photos of the isolation types offered: Direct Mount [no structural base], Structural Base, and Inertia
Base. Bases can be supplied with or without isolators. Contact a Greenheck representative for additional
information on each type of base and their advantages.

Direct Mount
with Neoprene Isolators

Structural Base or

Concrete Filled Inertia Base
with Free Standing Spring Isolators

[ B GREENHECK




Isolator Options

Greenheck offers several types of isolators for centrifugal products, including free-standing, restrained spring,
housed spring, and neoprene mounts. Refer to pages 6 through 8 for installation instructions for the type of
isolator shipped with the unit.

Free-Standing spring isolators are unhoused, laterally stable steel
springs. They provide a minimum horizontal stiffness of 0.8 times
the rated vertical stiffness and provide an additional 50% overload
capacity. These isolators are equipped with a top mounted adjusting
bolt and a non-skid, ribbed elastomeric pad to increase stability.
Springs are color coded to indicate load capacity.

Restrained spring isolators consist of laterally stable, free-standing
springs assembled in a steel housing. These assemblies are
designed for vertical and horizontal motion restraint. Restrained
spring isolators are provided with leveling bolts that can be used for
blocking during equipment installation. Springs provide 50% overload
capacity and are color coded to indicate load capacity. Restrained
spring mounts are recommended for equipment subject to wind
loading or large torquing forces. They are also used for equipment
subject to large weight changes such as swingout fans.

Housed spring isolators consist of steel springs assembled into

a cast iron housing with a top mounted adjusting bolt and an
acoustical non-skid base. Housed spring isolators include resilient
inserts to prevent metal-to-metal contact and provide snubbing for
side loads. Springs provide an additional 50% overload capacity and
are color coded or identified to indicate load capacity.

%
A

N
!§i

Neoprene Mountings consist of a steel top plate and base plate
completely embedded in colored (oil-resistant) neoprene for easy
capacity identification. Neoprene mountings are furnished with a
tapped hole in the center. This enables the equipment to be bolted
securely to the rubber mount.

As a result of our commitment to continuous improvement,
Greenheck reserves the right to change isolator styles or vendors without notice.

[H GREENHECK



Installation Instructions for Free Standing Isolators

10.

11.

Equipment foot or

/ isolator mounting bracket
A
[ﬁ Small cap screw

)

Leveling bolt

Isolator top cap
or steel load plate

Color coded

coil spring
VV . %A

Neoprene bottom spring cap
or steel load plate

. Thread the leveling bolt into the top load plate of the spring until the head of the bolt is within 1/8 inch of

the top load plate of the spring.

. Coordinate the location of each isolator with the appropriate submittal drawing and with the color code

chart provided for each spring.

. Remove the small cap screw and washer. Raise the equipment base with jacks or similar tools (do

not attempt to raise the equipment via one (1) lifting point, but lift evenly around the perimeter of the
equipment). Slide the spring isolator under the equipment or mounting bracket with the bolt head on the
underside of the bracket.

. Insert the small cap screw through the bracket and thread into the top of the leveling bolt and tighten finger

tight.

. If the equipment weighs 1000 Ibs. or more, the placement of blocks beneath the equipment near each

isolator point will assist installation. The height of each block should be such that the equipment will be at
its required operating height when sitting on the blocks.

. Lower the equipment (evenly) onto the spring isolators or blocks, taking care not to overload any one

isolator and taking care not to push the equipment sideways.

. For small equipment where blocks are not used, turn the leveling bolt counter clockwise on the lowest

equipment corner until the equipment is level. Do not attempt to place all the weight on one spring, but
distribute the load proportionately by adjusting each isolator in sequence.

. For larger equipment where blocks are used, turn the leveling bolt counter clockwise until the equipment

just comes free from the blocks. The blocks may then be removed. It may be desired to leave the
equipment on the blocks until it is operating, thus eliminating future releveling should there be a major
weight shift during equipment start up.

. Continue to adjust each leveling bolt (in sequence) until the equipment is at its operating height, shown in

the appropriate submittal drawing.

Tighten the small cap screw, thus securing the spring isolator to the supported equipment and locking the
leveling bolt against turning.

Do not attempt to move the equipment laterally while it is supported on the isolators. If it is necessary

to move the equipment, remove the weight from the isolators by raising the equipment. Failure to follow
this procedure could result in bent or broken leveling bolts or springs, or damage to the neoprene bottom
spring cap.

[H GREENHECK



Installation Instructions for Restrained Spring Isolators

Attachment bolt

Washers

/ Equipment bracket

@ Rubber snubbing pads
E3

é\ Top load cap

Housing
amwrrZ éﬁm

~— Leveling nut

1. Coordinate the location of each isolator with the appropriate submittal drawing.

2. Remove the attachment bolt and one washer from the top of the leveling nut. Insert leveling nut assembly
into the equipment bracket as shown in diagram. Be sure the top load cap is screwed all the way up to the
leveling nut.

3. Align the fan base isolator holes and center the isolator housings on the leveling bolts. Lower the fan base
onto the housing and mark the isolator housing anchor bolt locations.

4. Raise the fan base off the housings and install the isolator anchors in the floor.

5. Center the spring under the top load cap and lower the equipment. The isolator housing should support the
equipment with approximately the desired floor clearance.

6. Loosely bolt equipment to the isolator using the attachment bolt.

7. Adjust the isolator by turning the leveling nut counterclockwise one turn. Repeat this step to each isolator
leveling nut, one turn at a time, until the housing top plate is centered between the rubber snubbing pads
on the leveling screw on all isolators.

NOTE: If one isolator reaches the desired position before the others, stop turning that leveling nut. It may
be necessary to turn that leveling nut clockwise at some point to return it to the desired position once the
other isolators reach their centered positions.

8. When all isolators have the housing top plate centered between the rubber snubbing pads on the leveling
screw, install the anchor nuts to firmly attach the housing to the floor.

9. Tighten the attachment bolt, thus bolting the isolator to the supported equipment and locks the leveling bolt
against turning.

[H GREENHECK



Installation Instruction for Housed Spring Mounts

Equipment
Bracket

Slot for Foundation Bolts

|—————

Leveling Bolt

—=—— Locking Nut

]

=
==

J ]

N

]

|

[

Zi]

ARV, SAWASAWARAWARAWARAY

Acoustical Non-Skid
Elastomeric Pad

. Set mountings on sub-base, shimming or grouting where required to provide a flat and level surface at the

same elevation for base mountings (1/4 inch maximum difference in elevation can be tolerated). Support the

full underside of the base plate; do not straddle gaps or small shims.

. Bolt mountings to floor through slots.

go down, possibly resting on the lower housing.

. Set the unit or base on the mountings. The weight of the unit will cause the upper housing of the mount to

. Turn nuts up on leveling bolts so that they will not interfere with the leveling procedure. Insert bolts through

the holes in the fan or isolation base and turn them into the tapped hole in the upper housing of the

mounting by hand as far as they will go.

. With wrench, screw down one complete clockwise turn on the leveling bolt of each mounting. Repeat

this procedure until 1/4 inch clearance between upper and lower housing is obtained on one or more

mountings.

this clearance.

. Take additional turns on all mountings having less that 1/4 inch clearance, until all mountings have at least

. Level the fan by taking additional turns on all mounts at the low side. Clearance should not exceed

1/2 inch. Greater clearance indicates that mountings were not all installed at the same elevation and shims

are required.

complete adjustments.

[ B GREENHECK

P.O. Box 410 « Schofieid, Wi 54476-0410 « 715.359.6171 « greenheck.com

. Turn locking nut on leveling bolt down against fan or isolation base and lock in place with wrench to

#468646 Isolation Base Assembly Instr

Rev. 2, September 2012

Copyright © 2012 Greenheck Fan Corp.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 100
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 100
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 300
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /ENU ([Based on '[Smallest File Size]'] Use these settings to create Adobe PDF documents best suited for on-screen display, e-mail, and the Internet.  Created PDF documents can be opened with Acrobat and Adobe Reader 6.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName (sRGB IEC61966-2.1)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing false
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice


